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Mr. Schlansky Pre Calculus

Writing the Equation of a Quadratic Equation

Given the Roots
Write an equation whose roots are:
L.x=3,x=-2 Dyx=-1,x=-4
Sum =34-) = | S =~ 4(=~S"
Prrduck= -3 = pradock= 13 =Y
X%-6=0 XTHSXH =0

5 x= 102 }@ )94};—_2_

Sum=313=232 XQ'S“XQ‘QzO; SJM"";)‘*%

Pecck= (0 =| (&5) 5
5.x=6++3 6. x =—-4++/6
Sun=(% / Sum=-YJg+ Y46 =
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K HAx+3320 Iy HO=0

7.x=-2+5i

Gin= Y ¢ =1 o a3 <b
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13. Juan has been told to write a quadratic equation where the sum of the roots is equal to -3 and

the product of the roots is equal to -9. Which equation meets these requirements?
1) x’ +3r+9=0 Gy 2x* +6x-18=0 WM =3 j{x 344 2
2) x*—12x+27=0 4 (x+3)(x+9)=0 pﬂk,vd-"

en
14. Which equation has the complex number 43/ as aroot? Suy = UEAH=3¢ -5
1) x*+6x-25=0 3) x> +8x-25=0 Yl = (443063 R|p 4G < )
2) ¥ —6x+25=0 45 —8x+25=0 P —— 1=2s
=
X=Xt S0y
15. For which equation is the sum of the roots equal to the product of the roots?
D x*+x+1=0 3) x> -8x—-4=0
2) x*+3x-6=0 @x —4x+4=0
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